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INDIAN ADMINISTRATION 
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Q.1 Major issues in Indian Administration - Explain.       (15) 

OR 
Q.1 Discuss British influence on Indian Administration. 
 
Q.2 Role of Civil Society in Indian Administration.       (15) 
 

OR 
Q.2 Describe the organisation and functions of Union Cabinet 

Secretariat.  
 
Q.3 Changing role of the Public Sector in the contex of LIberalisation.   (15) 

OR 
Q.3 What is the organisation of Ministry of Defense in India ? 
 
Q.4 What is the organisation of Local Government's Administrative    (15) 

System in India ?  

OR 
Q.4 Critically discuss the Role of Controller and Auditor General in India. 
 
Q.5 Multiple Choice Questions.           (10) 
(1) Central Vigilance Commission was set up on the recommendation of  
 (A) Administrative Reforms   (B) Gorwala Report 

Commission of India.   (C) Kripalani Committee 
 (D) Santhanam Committee 
 (2) The institution of Lokayukta was created for the first time by the state 

of 
 (A) Orissa      (B) Bihar 
 (C) Punjab      (D) Maharastra 
 (3) The institution of Lokayukta was created first time in Maharastra in : 
 (A) 1970      (B) 1972 
 (C) 1973      (D) 1971 
 (4) No-confidence Motion to be admitted in the Lok Sabha, needs the 

support of  
 (A) 80 Members      (B) 140 Members 
 (C) 160 Members     (D) 50 Members 
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 (5) The most effective means of citizen's control over administration is : 
 (A) Election      (B) Pressure Group 
 (C) Advisory Committees   (D) Public Opinion 
 (6) Which of the following is not correctly Matched ? 
 (A) Central Bureau  of Investigation - 1963 
 (B) Special Police Establishment - 1942 
 (C) Prevention of Corruption Act - 1947 
 (D) Central Vigilance Commission - 1964 
 (7) The Santhanam Committee on prevention of Corruption was 

appointed in : 
 (A) 1961      (B) 1964 
 (C) 1963      (D) 1962 
 (8) In which of the following stated years, the Lokpal Bill was not 

introduced in the Parliament ? 
 (A) 1968      (B) 1971 
 (C) 1978      (D) 1985 
 (9) The number of departments in france is : 
 (A) 86       (B) 78 
 (C) 98       (D) 90 
 (10) Civil Service System in the USA was created in the year. 
 (A) 1887      (B) 1896 
 (C) 1883      (D) 1878 

 
 

NyS>fpsu sfS|>dp¡ 
Ly$g NyZ : 70 

â.1 cpfsue hluhV$us„Ó_p dy¿e dyØpAp¡_u rhNs¡ QQp® L$fp¡.       (15) 
A\hp 

â.1 cpfsue hluhV$us„Ó `f_p rb°V$__p âcph_u rhNs¡ QQp® L$fp¡. 
 
â.2 _pNqfL$ kdpS>_u cpfsue hluhV$us„Ódp„ c|rdL$p QQp£.       (15) 

A\hp 
â.2 L¡$[ÞÖe d„Óu`qfjv$ krQh_u c|rdL$p A_¡ dpmMp_¡ rhNs¡ hZ®hp¡. 
 
â.3 Dv$pfuL$fZ_u Akf _uQ¡ Ål¡f n¡Óp¡_u bv$gpsu S>su c|rdL$p A_¡ L$pep£_u QQp®   (15) 

L$fp¡. 
A\hp 

â.3 cpfsue fnp d„Ópge_y„ dpmMy„ iy„ R>¡ A_¡ L¡$hu fus¡ L$pe® L$f¡ R>¡ s¡ v$ip®hp¡. 
 
â.4 cpfsdp„ õ\p_ue kfL$pfp¡_p hluhV$u dpmMp_u QQp® L$fp¡.      (15) 

A\hp 
â.4 cpfsdp„ L$ÞV²$p¡gf A_¡ Ap¡qX$V$f S>_fg_p L$pep£_u Apgp¡Q_pÐdL$ d|ëep„L$_ L$fp¡. 
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â.5 h¥L$rg`L$ âñp¡               (10) 
 (1) L$¡[ÞÖe rhrS>ëÞk L$rdi_ L$p¡_u cgpdZ\u Apìey„ ? 
 (A) cpfsue hluhV$u ky^pfZpApep¡N (b) Np¡fhpgp fu`p¡V®$ 
 (L$) q¾$`gp_u L$duV$u    (X$) kÞ\p_d L$duV$u 
 (2) gp¡L$peyL$s_u r_eyL$su â\d L$ep fpS>e¡ L$fu ? 
 (A) Ap¡fuõkp     (b) rblpf 
 (L$) `„Åb      (X$) dlpfpô²$ 
 (3)  dlpfpô²$dp„ gp¡L$peyL$s L$B kpgdp„ Adgdp„ Apìey„ ? 
 (A) 1970     (b) 1972 
 (L$) 1973     (X$) 1971 
 (4) Arhðpk_u v$fMpõs gp¡L$kcpdp„ gphhp dpV¡$ L¡$V$gp kæep¡_y„ kd\®_ S>ê$fu R>¡ ? 
 (A) 80 kæep¡     (b) 140 kæep¡ 
 (L$) 160 kæep¡    (X$) 50 kæep¡ 
 (`) hluhV$u s„Ó `f r_e„ÓZ dpV¡$_u kp¥\u kpfu fus _pNqfL$p¡ dpV¡$ L$B R>¡ ? 
 (A) Q|„V$Zu     (b) v$pbS|>\ 
 (L$) kgplL$pfu L$duV$u    (X$) S>_ds 
 (6) _uQ¡_udp„\u L$ey rh^p_ kÐe _\u ? 
 (A) k¡ÞV²$g åeyfp¡ Ap¡a BÞh¡õV$uN¡i_ - 1963  

(b) õ`¡fpeg `p¡guk A¡õV$påguid¡ÞV$ - 1942 
(L$) râh¡Þk_ Ap¡a L$fàk_ A¡L$V$ - 1947 
(X$) k¡ÞV²$g rhrS>gÞk L$dui_ - 1964 

 (7) cô²$pQpf fp¡L$hp dpV¡$_u k„Þ\p_d L$duV$u L$epf¡ b_u ? 
 (A) 1961     (b) 1964 
 (L$) 1963     (X$) 1962 
 (8) _uQ¡_pdp„\u L$ep hj® v$frdep_ k„kv$dp„ gp¡L$`pg bug fS|> _lp¡sy„ \ey„ ? 
 (A) 1968     (b) 1971 
 (L$) 1978     (X$) 1985 
 (9) äp„Þkdp„ L¡$V$gp rhcpN R>¡ ? 
 (A) 86      (b) 78 
 (L$) 98      (X$) 90 
 (10) ey.A¡k.A¡.dp„ k_v$u k¡hp_u iê$Aps L$ep hj®dp„ \B ? 
 (A) 1897     (b) 1896 
 (L$) 1883     (X$) 1878 
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